
Craven Equipment

Inspired by Adventure Built for Everyday

DIY fitting kit

The correct rack for this kit is a ‘D’ or ‘W’ rack

The fitting kit is designed to mount the rack to a mudguard. It will require drilling and some
technical know-how as it is a universal style kit.

Included in the fitting kits:-

Main fitting kit

Part Number Quantity DESCRIPTION

FA1476Q 4 Set bolt, M8 x 20, stainless steel

FA1477Q 4 Set bolt, M8 x 25, stainless steel

FA1530Q 8 Nyloc nut, M8, stainless

OI-CRA 1 Copper slip sachet for threads

P500 4 Universal carrier leg 10", no holes

P501 2 Straight Leg 13" centres - extra middle hole

S19-3Q 16 Plain washer, 5/16, stainless

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment

Inspired by Adventure Built for Everyday

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk


